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 EEC-011  

BACHELOR’S DEGREE PROGRAMME  

(BDP) 

Term-End Examination 

February, 2021 

ELECTIVE COURSE : ECONOMICS 

EEC-011 : FUNDAMENTALS OF ECONOMICS  

Time : 3 hours                            Maximum Marks : 100 

Note :   Attempt questions from each section as per 

instructions given.   

 

SECTION A 

Attempt any two questions from this section in about 

500 words each. 220=40 

1. What do you mean by the term ‘Consumer 

Equilibrium’ ? Explain consumer equilibrium 

with illustrations in terms of Marshallian law of 

equi-marginal utility.  

2. (i) What is the difference between Price 

elasticity of demand and Cross elasticity of 

demand ? 

(ii) Given the function  

 Q1 = 50 – 4P1 – 3P2 + 2P3 + 0·001y, where 

P1 = 10, P2 = 20, P3 = 40 and y = 10,000,  

Q1 = 170, find the different cross elasticities 

of demand.   
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3. What is the difference between Personal income 

and Private income ? Explain the production 

method as a method to measure national income.  

4. What is Monopoly ? Which conditions give rise to 

monopoly ? Explain with illustrations how 

pricing and output decisions are taken by a 

monopoly firm in short-run and long-run period.  
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SECTION B 

Attempt any three questions from this section in about 

250 words each.  310=30 

5. Do you think that individual labour supply curve 

is backward bending ? Give reasons in support of 

your answer.  

6. Distinguish between Money and Bond. Explain 

Keynesian theory of demand for money.  

7. What is Multiplier ? What is its relation with 

Marginal Propensity to Consume (MPC) ? Give 

illustration.  

8. What is the difference between Open and 

Suppressed inflation ? Give an account of the 

factors causing demand-side inflation.  

9. Explain the law of demand with the help of 

demand schedule and demand curve.  
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SECTION C 

Attempt all questions from this section.   215=30 

10. Distinguish between any three of the following :  

(i) Isoquants and Indifference curves  

(ii) Aggregate demand and Aggregate supply 

(iii) Positive and Normative economics  

(iv) Induction and Deduction  

(v) Static analysis and Dynamic analysis  

11. Explain any three of the following : 

(i) Liquidity trap  

(ii) Crowding-out effect  

(iii) Quasi-rent 

(iv) Income effect 

(v) Price discrimination  
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 B©.B©.gr.-011  

ñZmVH$ Cnm{Y H$m`©H«$_  
(~r.S>r.nr.) 

gÌm§V narjm 

\$adar,  2021 

EopÀN>H$ nmR>çH«$_ : AW©emñÌ 

B©.B©.gr.-011 : AW©emñÌ Ho$ _yb {gÕm§V  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {XE JE {ZX}emZwgma àË`oH$ ^mJ go àíZm| Ho$ CÎma Xr{OE & 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 
_| Xr{OE & 220=40 

1. ‘Cn^moº$m Ho$ g§VwbZ’ nX go Amn Š`m g_PVo h¢ ? _me©b 
Ho$ g_-gr_m§V Cn`mo{JVm Ho$ {Z`_ Ho$ nXm| _| CXmhaU à`moJ 
H$aVo hþE Cn^moº$m Ho$ g§VwbZ H$s ì`m»`m H$s{OE &  

2. (i) _m±J H$s µH$s_V bmoM Am¡a _m±J à{VbmoM _| Š`m 
A§Va h¡ ?  

(ii) {X`m J`m \$bZ$  
 Q1 = 50 – 4P1 – 3P2 + 2P3 + 0·001y,  

 Ohm± P1 = 10, P2 = 20, P3 = 40 Am¡a y = 10,000, 

Q1 = 170, {d{^Þ _m±J à{VbmoMm| H$m _mZ kmV 

H$s{OE &     
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3. d¡`{º$H$ Am` Am¡a {ZOr Am` _| Š`m AÝVa hmoVm h¡ ? 

amï´>r` Am` Ho$ _mnZ H$s {d{Y Ho$ ê$n _| CËnmXZ {d{Y 

g_PmBE &  

4. EH$m{YH$ma Š`m hmoVm h¡ ? Š`m H$maU EH$m{YH$ma H$mo OÝ_ 

XoVo h¢ ? CXmhaUm| g{hV g_PmBE {H$ H$moB© EH$m{YH$mar \$_© 

Aën Ed§ XrK© H$mb _| AnZo µH$s_V-{ZYm©aU Ed§ CËnmXZ 

{df`H$ {ZU©` {H$g àH$ma H$aVr h¡ &  
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^mJ I 

Bg ^mJ go {H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| 

(àË`oH$) _| Xr{OE & 310=30 

5. Š`m AmnH$m {dMma h¡ {H$ {H$gr ì`{º$ H$m l_ Amny{V© dH«$ 

nrN>o H$s Amoa _w‹S> gH$Vm h¡ ? AnZo CÎma Ho$ nj _| VH©$ 

Xr{OE &  

6. _wÐm Am¡a ~m°ÝS>> _| ^oX H$s{OE & Ho$ÝµO Ho$ _wÐm H$s _m±J Ho$ 

{gÕm§V H$s ì`m»`m H$s{OE &  

7. JwUH$ Š`m hmoVm h¡ ? BgH$s gr_m§V Cn^moJ àd¥{Îm (MPC) 

go Š`m g§~§Y hmoVm h¡ ? CXmhaU XoH$a g_PmBE &  

8. Iwbr Am¡a X{_V ñ\$s{V _| Š`m A§Va h¡ ? _m±J-njr` 

ñ\$s{VH$mar H$maH$m| H$m {ddaU Xr{OE & 

9. _m±J AZwgyMr Am¡a _m±J dH«$ H$s ghm`Vm go _m±J H$m {Z`_ 

g_PmBE &  
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^mJ J 

Bg ^mJ go g^r àíZm| Ho$ CÎma Xr{OE & 215=30 

10. {ZåZ{b{IV _| go {H$Ýht VrZ  _| A§Va ñnï> H$s{OE : 

(i) g_-CËnmX dH«$ Am¡a AZ{Y_mZ dH«$  

(ii) g_J« _m±J Am¡a g_J« Amny{V©  

(iii) dñVwdmMr Am¡a JwUdmMr (_mZH$s`) AW©emñÌ 

(iv) AmJ_Z Am¡a {ZJ_Z  

(v) ñW¡{VH$ {díbofU Am¡a JË`mË_H$ {díbofU 

11. {ZåZ{b{IV _| go {H$Ýht VrZ  H$s ì`m»`m H$s{OE : 

(i) VabVm nme  

(ii) ~{hîH$aU (õmgH$mar) à^md  

(iii) Am^mgr bJmZ  

(iv) Am` à^md  

(v) µH$s_V {d^oXZ  

 

 


